
DIRECTIONS:

FI RST, work any problem below and find your answer in the answer column.

SECOND, find the letter of the problem and letter of the answer in the maze on page 2. Shade
in the path connecting these two letters.

CONTINUE UNTIL YOU HAVE SHADED IN A COMPLETE PATH FROM START TO FINISH.
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AN ALARM CLOCK IS SOMETHING

20 .31 - -67.7 - - 1 I . 5- -42 - -41 3.9 --90.9 - -.41 - -20.3 1 - -68.7 - -.41

119.1--413.9--184--107--2581--3.7--68.7--20.31--2581--6.1--20.31--67.7--184--67.7--562

TO DECODE THE LAST PART OF THtS DAFFYNITION, FOLLOW THESE DIREGTIONS:

First, work any problem below and find your answer in the code. Each time the answer appears in the code, write the letter of

that problem above it.

KEEP WORKING UNTIL YOU HAVE DECODED THE LAST PART OF THE DAFFYNITION.
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A:342 + .s7 :

l t  :  2.769 +.3 g :

H = 2.29g+ 4.4:

N=8.82 + .99:
lv=113.4 + 6.3 :

CRfrCK THE CODE
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Work any problem below and find your answer in the coded poem at the bottom of the page. Each time the answer appears in
the code, write the letter of that problem above it.

KEEP WORKING PROBLEMS UNTIL YOU HAVE DECODED THE POEM.
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O
O
O
O
O



, )

KNocrr KNocK
WHO'S THE RE?*JAMAICA*J AMAICA WHO?

JAMAICA

l-x,-xl-xr-xt-xr-xtg : 
-xr-xrc:xt-xt-.| -XTO DECODE THE LAST LINE OF THIS KNOCK-KNOCK JOKE. FOLLOW THESE DIRECTTONS:

Work any problem below. Round off your answer to the nearest hundredth and find it in the code, Each
time the answer appears in the code, write the letter of that problem above it.

KEEP WORKING UNTIL YOU DISCOVER THE LAST LINE OF THE KNOCK-KNOCK JOKE.
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